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II Semester B.Com.2 Degree Examination, May 2016

ENGLISH BASIC
(Regular)

Text : Indian Prose for Effective Communication

Time : 3 Hours] [Max. Marks : 80
I. Answer the following questions in a word, phrase or a sentence each :
(10 x 1 =10)
1.  Which book did Nirad Chaudhuri hold in his hand in the bus?
2.  Who arranged Marisa’s stay in India?
3. What doés the goddess Katalamma’ symbolise?
4, When was India’s Family Planning Programme started?
5. Name the little known civilizations of America.
6. When did the Quit India Movement start?
7. What is the theme of the present day literature in India?
8. Name the Acts which provided for a federal structure in India.
9.  What unified Indians politically?
10. What is the tone of the essay, ‘Headache™
I[I. (a) Explain how Marisa adjusted herself to the frugal ways of the Rana
family.
Or
(b) ‘The bus in Delhi is a microcosm of our national life.” Explain. (10}

1 P.T.O.
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1II.

V.

(a) Give a pen-portrait of M.S. Subbulakshmi as a singer.
Or
{b) Describe the life of the people in the Kerala fishing villages as found in
‘Chemmeen’. (10)
Write short notes on any four of the following : (4 x 5 = 20)
1. The rnising population in india
2.  Federalism in India
3.  The Role of the University
4.  The Quit India Movement
5.  The shooting of ‘Pather Panchali’
5. Headache
{a}  Fill in the blanks with the correct forms of verbs given in the brackets :
(5x1=25)
i I (be) going to Delhi next week.
2. She {do) not visit me last Sunday.
3. The work {have) been completed.
4. Athingofbeauty _ __ (be) a joy forever.
5. They __ {have) won the match.
{b) Form new words by using affixes : (5x1=05)
1. formal
2. rest

>, possible
4.  justicc

2. arrarnge
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VL. (a) Combine the following pairs of sentences by using ‘wh’ words such as
who, whose, when, why, what, which, whom, where, etc. : {(5x1=5)
1.  Rita goes to Church. She offers her prayer there.
2. They went to college. It was raining.
3.  She has a good height. It helps her in sports.
4. He asked her. She was crying.
5. Imet a man. He was an artist.
(b) Frame questions so as to get the underlined words as answers :
(5x1=5)
1. Gandhiji hated violence.
2.  The Minister came late.
3.  She went to the U.S.A. last month.
4. The meeting will start at 9.30 a.m.
5. He drank the juice slowly.
VII. Write a letter to your friend describing your trip to a historical place. (10)
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II Semester B.Com.2/B.Com.3 Degree Examination, May 2016
{(RCU - Regular/ Repeater)
ACCOUNTING THEORY
Time : 3 Hours] . [Max. Marks : 80

Instructions/Retsalrieh ;

1) Answer all questions subject to intermal choice.
20308 a1t 2,5TED), DR, ZI YA o300,

2) Question No. — 11 (Case Study) is compulsory.
34 - 11 smab (5500 ¢gadm).
SECTION - A/ &2%n — @
I.  Answer any ten of the following questions : (10 x 2 = 20)

3YNT Wesan BIY, 4ugd10

(@) Who are the users of accounting information?
508 SR&H30R) HuB0leeARBITO 0dRT1?

(b) What is Proprietary theory?
2E3RT FOFT H0BTeROT?

(c) Name the theories that represent roots of accounting theory.
6%833&6 zimoﬁ%*d)el T30PT Z»csa@o:ériejdi BR0A0.

(d) State two needs of accounting principles.
dﬁ&mdS 33519} QTR 838553?19&‘)1 320.

() What do you mean by accounting standards?
57038 SIRend HoETeRO?

1 P.T.O.
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(ff What is accounting environment?
3595 SOIC H0BTeRD?

(g What do you mean by socio-economic approach?
PINET $DFT TG 0WIeR0?

(h) What is normative accounting theory?
S3R0edd I35 wa03S00eR)?

(i  Give the meaning of full disclosure principle.
ReF WhTontedidd 33}3 mﬁra&&q e,

() Name any two names of contributors to accounting theory.
S5z, 2w 03rd wil Fedort DeBE clnF)Terce BT, BIOO.

@ n
(k} What is Inventory?

Dom (Inventory) HowBeRH?

{)  What is going concern postulate?
F=HI0E JT030 I0B0F0E I A8 oI HoBTER?

SECTION - B/dwen— w
Answer any three of the following questions : (3 xS =15)
Yoo Soeth S3rdr ougddd :

2.  Explain the role of accounting theory.
JEZo% 203030 T8, DSOXV.

3. Explain the Dual aspect principle.
REERE 33T S0

4. What is behavioural approach? State the its advantages and disadvantages.
BIrBob IF H0BVERI? BT BT RLIN Fone BTRITHOINST, 3¢2D.

5. Briefly explain the different postulates of accounting.
S5zea s JAF Fpeyled JobRonds), Fogzimen AV

6. Explain the need for accounting standards.
JI5zer, BReerie BB FSRIR), HIVWD.

Vo
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10.

SECTION - C/ %art — 3

Answer any two of the following questions : (2 x 15 = 30)
wWesen OB S3rdr eugd2d :

Discuss the effects of various environments on accounting theory.
eﬁﬁdaaﬁikmgoa"d Soees AP ID0VMYO Dedds a’amabrie}ail 2323630,

Explain in brief the basic accounting principles.
SEZOR, WOZToNT IINYR), $03FTY HZOB.

Explain in brief the different traditional approaches to the formulation of
accounting theory (Non-theoretical).

&5,59%, A02033), SooBRS BFET T0T 0T SPRYR), FoFZEY IO

From the following transactions, prepare stores ledger account using the FIFO
method for January 2016 :

On

1.1.2016 Opening balance 850 units at Rs. 5 per unit
4,1.2016 Purchased 300 units at Rs. 6 per unit
8.1.2016 Purchased 600 units at Rs. 8 per unit
10.1.2016 Issued 500 units

14.1.2016 Issued 300 units .

15.1.2016 Purchased 700 units at Rs. 8 per unit
17.1.2016 Purchased 500 units at Rs. 8.50 per unit
18.1.2016 Issued 800 units

25.1.2016 Issued 300 units

27.1.2016 Purchased 300 units at Rs. 10 per unit

‘FIFO’ (330¢) Jpamam), osoadd kEsd 20163 Saesfs agab@) 30350020 :
1.1.2016 S00PT Be), 52532‘35(360(1@0 850 0ees* it twe. 5 dod
4.1.2016 T3 oledks*r T, 6 Tod 300 Qhﬁ)&)és‘ﬁ%fdgl DOeRLT
8.1.2016 33 cdredes*t de. 8 ol 600 QLA TIHRY, 0BT
10.1.2016 500 Qilfa&ésf\’mmgl NeBdens

14.1.2016 300 m&&fNﬁ@Q&cdmﬁd

15.1.2016 Z,8 olwedesst dwe. 8 dod 700 0RES TIYR), DD
17.1.2016 3 adoedes*t S, 8.50 To3d 500 mawnvagtmcmd
18.1.2016 800 0zt nds), Aerep

25.1.2016 300 cti).!ac?)ésf\‘!‘itiiﬁi.zl BN

27,1.2016 &3 odredes*rt e, 10 o3 300 m&wmﬂxacmd

3 P.T.O.
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11. Case study (Compulsory question) :

N

SECTION - D/ &pant - @

I50e vy, obs (FEabaes) :

(1x 15 = 15)

State with explanation the principles, concepts, postulates that have been
used to prepare the following Balance Sheet in the books of Bharat -

Balance Sheet on 31.3.2016

Liabilities
Capital 4,00,000
Add : Net Profit 1,00,000
Creditors 6,00,000

Less : R.D. on Crs. 40,000

Bills Payable
Contingent Liabilities
(Rs. 40,000)

.Rs.

5,00,000

5,60,000
40,000

11,00,000

Assets Rs.

Fixed Assets 6,00,000

Less : Depr. 60,000 5,40,000

Investments 1,60,000

Stock at Cost 1,40,000

(Market price Rs. 2,00,000)

Debtors 2,00,000

Less : R.D.D. — 20,000 1,80,000

Cash - 80,000
11,00,000

PO 830 TR B NS WS I3, %qpﬁ&mem@ﬁmd 33511%0, IVFOSND Fonin

SoP0IHT scg\?ﬁef@l Q0N VTR0 :

BOTHTOFID
wodaed 4,00,000
Add: dz9 ey 1,00,000
Tt 6,00,000

Less : saongg Awed 40,000

ToR320T Werned
ﬁosm%d 2RTMROTNY
gdw. 40,000

oS 333 31.3.2016

TR.

5,00,000

3,60,000
40,000

11,00,000

8200 G

EIent Tl 6,00,000

Less : azwe 60,000 5,40,000

BRATMY> 1,60,000

womyah e Sobd,

(Bwoosed W - 2,00,000) 1,40,000

XOTRCT) 2,00,000

Less : Jo8admn3@ #® 20,000  1,80,000

Chla 80,000
~11,00,000




(M RHEEETIRE ) 23228/36226/B 260/B 330

Reg. No.

II Semester B.Com.2/B.Com.3 Degree Examination,
May 2016

COMPUTER APPLICATIONS IN BUSINESS - I
(Regular)
Time : 3 Hours] ' [Max. Marks : 80

Instructions : 1} All sections are compulsory subject to internal choice.

2) Section Dis compulsorg).
SECTION - A
Answer any ten of the following questions. Each carries 2 marks. (10x2= 20)
1. State any four characteristics of computers.
2. What is computer memory?
3. Mention any two output devices.
4.  What is the use of LCD projector?
5. Expand LAN and MAN.
6. What is voice mail?
7. Mention any four options of the control panel.
8. Define operating system.
9. State any two features of word processing.
10. What is the use of Header and Footer options in MS-Word?
11. What is presentation software?

12. Define animation.

1 P,T.O.
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13.

14.

15.

—
w3}

17.

18.

16.

20.

22.

SECTION - B

Answer any three questions. Each carries 5 marks. {3 x5 = 1§)
Explain any five general applications of computer,

What is E-mail? Write the steps to create an E-mail ID?

Explain real time and multitasking operating system.

Discuss the different options present in the page setup in MS-word.

What is slide transitions? Write the steps to apply a transition effect to a
slide?

SECTION - C

Answer any two questions. Each carries 15 marks : (2 x 15 = 30)
Explain in detail the CPU of computer.
Discuss the different types of computer Networks.

Explain the different options present in the paragraph group and font group of
MS-word in detail.

Write short notes on :
(8 MODEM
(b} Mail Merge
(¢) Printers
SECTION-D
Compuisory question (case-study)

Write the steps for {1 x 15 = 15)
(a) Inserting the pictures in the document

(b} Find and Replace option

(c) Applying subscript and superscript

(d) Inserting the table with specified number of rows and columns.

{e) Printing the document.
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II Semester B.Com.3 Degree Examination, May 2016
(RCU Syllabus — Regular and Repeaters)
Paper - II : BUSINESS ECONOMICS

Time : 3 Hours] [Max. Marks : 80
Instructions/Zeesfned : » '

1) All Sections are compulsory.
DER DGID/ITEL Fead aDIAT,

2) All sub sections should be solved continuously at one place.
- @’g‘ﬁe’m 533T0h t.odde 56 evF 020, '

3} Draw diagrams wherever necessary.
&5Z 53V D D3I VX)) 2EI0.
SECTION - A/ dtari — &

1. Answer any ten in two-three sentences : (10 x 2 = 20)
BYARI)NYS Wewad B3¢, HCB-ZneT0 m%m?q u3030 :

(a) State the different types of market.
SRTIEEE 0 DG FF0NIE) Bewd.

{(b) What is Price discrimination?
W3S 32033 20uTesd?

(c) Give the meaning of dumping.
‘05,30 S9T0 (Boont)w wge R0,

(d) What is Product differentiation?
S :de)t;iess D0TBERL?

(e) Give the four examples of selling costs.
SI00k3 aﬁ&%un‘%“ T, meda’ﬂeﬁaﬁi 3,080,

{fi  Give the meaning of Skimming and penetration price.
33 IBBY oI ‘PenT BSNY eFF 3,080 ‘

1 A P.T.O.
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{g) State the meaning of factor market.
su3BTeonined IRCOTLI 0D VR Hedd.

(h} Mention any two objectives of fixation of minimum wages.
530, 3,09 ANBETNG 0IRZH)TITTLR TR evt edridd) 3920,

(i) What is net interest?
D3¢ WR doBTBeRv?

) Give the meaning of ‘Liquidity Trap’.
‘TR weS obd vge R0,

(k) Who developed uncertainty theory of profit?
083300 YT 2 03TR), T3THRIFITH 03RTH?

()  Calculate the average productivity from the following data :
(i) Total production : 18,000 units

(1) Number of workers employed : 134
B3NS ©03-003nY 2BOLHOT FUE0 MV3F 7, Fes0 :

) wea),ev3g : 18,000 Pessried
(i) i), B0FBT B0a), : 134

SECTION - B/ 9tn —

Answer any three of the following : {3 x 5 = 15)
3INIZH)ridd wewd Sue0Y, ov300

2. Explain different types of monopoly.
DBFHRLB G FFTONYS) HIDXD.

3. Examine the different types of price discrimination.

e PTVIINTE DG FF0nYs), F05eAD.

4. Distinguish between real and nominal wages and mention the factors
determining real wages.

&5 3G Bod) PRBNY, FAIMY TEXAT JI]R IS0 Berie Tz FLAALTY, AFFORS
©08YR), 3920,
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S.

10.

How to limit profits? Discuss.
eRPIRY Bert 3rtevriis? ¥ued.

Calculate BEP in sales volume from the following data :
Variable cost per unit : Rs. 20

Selling price per unit : Rs. 60

Total Fixed expenses : Rs. 1,00,000

3t SR0ebAB ©03-08MY IH0LBOT ST MIT C-B, BAY, DOBISRY, TR
&R0 :

wBeRnS S 538 s 0w 20

SR0E WS B3 Pewd, © G, 60

2830 40 J3ried : Ow. 1,00,000
w® 23

SECTION - C/ayeri— %

Answer any two of the following : (2 x 15 = 30)
FYNTJHned Weved SOBY, GuZ00

How price and output are determined under monopoly?
DTHIY, SRTTE 300 ©eRSH I3) DeFrad W 3 eudd Bert IPrOZOBIZA?

Examine the equilibrium of the firm under monopolistic competition in
short-run and long-run.

BRIY Do) BeorIPodY, mﬁ:’%aim apetd mmﬁq’oﬁq 20030 FLBE I3 RCOT
A3ad), 208cH20.

Critically examine the Liquidity Preference Theory of Interest.
BB BREAVIT WBOD AmR03[R), DT TN 208e9H2D.

What is minimum wage? Explain economic effects of minimum wage fixation.
30& 3,08 H0BYeRL? TR 5D AP DROPHBOOWLIS BRFE SDFHToNYR) HSV0.

3 P.T.O.
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11.

SECTION ~ D/ 9% - @

Case Let (Compulsory) :
A8 T[T (vmaod) :

()

(b)

Distinguish between Gross and Net Profits.
wbiy 0 D3P Y BRIV TR IO,

I

(1 x 15 = 15)

Calculate Accounting Profit and Economic Profit by making use of data
available :

@)
(i)
{ii1)
(iv}
v)
(vi)
(vii)
viii)
fix)

{Rs. in crores)

Sales Revenue 60,000
Production cost 25,000
Depreciation charges 10,000
Advertisement expenses 10,000
Miscellaneous expenditure 10,000
Interest on his own capital 10,000
Wages for his personal labour 3,000
Rent on his own building 4,000
Interest on bank loans 12,000

B0300 :

(1) 003 B0

i1} susCwe 3,

(i) RSP S,

{iv) 230800243 szsu

(v) 733 Snieo

(vi) 393 wormeds 30ed8 B
(vii) =038 Z3oB 3R

(viil)  oLBFOTUN 303 FUE Wl

{ix)

23,05 506 S0 2.)&6

gce3 Cn.ndd

60,000
25,000
10,000
10,000
10,000
10,000

3,000

4,000
12,000

$Y508 ©03-w0BrYen R lesaialeinag ejaa&mdd CaT08 I) BHFT Y08 TorD
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II Semester B.Com.3 Degree Examination, May 2016
MARKETING MANAGEMENT
(RCU - Regular)
Time : 3 Hours] ' [Max. Marks : 80
Instructions/Zetsdried :

1) Answer all the questions subject to internal choice.
&0308 ealrlevsis) den Gt eugblo,

2) Question No. 11 (Case Study) is compulsory.
gd zoaf 11 (G506 o) o) sagaleids.
SECTION - A/d%on — & _
1. Answer any ten of the following : - {10 x 2 = 20}
Yesod B3 FSRIN ev3020
(a) Define marketing.
S0¢3 B3,0b0d Jyal &eRD.

{(b) Define Price mix.
8 08,66 =285 SRR

{c} What are shopping goods?
&08),0d FTBONYOBY 03?7

{d) State any two characteristics of agr’iculttiral goods.
5 ARTBONY 0IRZ)WrE0R H0R> OFpridR), 3920.

(e} What do you mean by buying behaviour?
BB BRITYE H0TTeRI?

{fy ~What is Brand Loyalty?
:de K):'% odordeO?

(28 Define Pricing.
3 AgedRATob D905 F,AR0.
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(h) What is new product?
BAR JZ 0WTER?

(i) What is BEP pricing?
BEP W3 aondeso?

() Define a channel of distribution.
J30Cme Ionew a%a% FHBO.

(k) What is sales promotion?
So0ets I T3 DoBTERO?

(I} Expand:
D00
(ij AIDAS
(i) MLM
(iiij FMCG
(iv) VDC

SECTION - B/ayeni — w

Answer any three of the following :
Yevar Foeth IBrdrt su3dd0 !

2. Distinguish between market and marketing,.
SRToTE, Forie SN0 FE,0d Y IBAT JIJAINIR) 3920

3. Explain the features of convenience goods.

MTOBROTC sCsone rbeae)ﬁearwdi TR0,

4. Explain briefly the types of brands.
Bo8,id DFaorieR), Zo3ZTE HT00.

5. What is an advertising copy? State its essentials.
255030 T3 20TTeRL? VWO BIZ TR SV,

goods.
5A J0on¢ond alRF)H)? A RTONY eudy ronegenes, 390,

(3 x 5 = 15)

Py

What are agricultural goods? State the product characteristics of agricultural
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10.

11.

SECTION - C/on - 8

Answer any two of the following : (2 x 15 = 30)
Uevad add PRI eugdd:

Define Marketing Management. Explain the objectives of marketing
management.

Swosks Fhob IIwBSob ) 08D IRTE BEAH IIWISAL eVBEBrE),
23020,

Explain the defects of agricultural marketing in India. Suggest the suitable
remedies to improve the agricultural marketing in India.

03w A In0Ts IFodn Mef’.&ﬁe}dgl D302, U3 TA mcoa'e%o.b&l EVArter oW
oiracriys ﬁbmd@cmw)m@mm&

What do you mean by Product Life Cycle? Explain the different stages involved
in P.L.C.

‘TR BedS s, HoBVeRL? IR BeDI W RE VBTINTOT IV BOINY), HI0D.

Define a channel of distribution. Explain the factors affecting channel
selection.

3T Innrs F R0, HITVme IRrFnd vobodb Boed JRT VLT WosrYmy
D3DHD.

SECTION - D/a%en - @

Case Study (Compulsory) : {1 x15 =15)
2,500 8y obs (FEead) :

fa) Mr. Pranav, a owner of ‘Toys World’ shop is dealing in children’s toys.
Now he wants to introduce a new electric car to children. You, being an
expert in marketing field, suggest him how to know the children’s
psychology to sell this car.

. FEo, W) R JOF vonBab IRdedh STy wtdt ST SR0LEY,
3RBNRY. sl WSty SoFPMN word BAR B w3 FoORY BOUWRISTT.
Qe S0k FeITW 030N & TUR) ab3Z00RN SR0eks BRBBY 30T
BOFIP, Bert 39BBLY WeForns wil FoB AeRD.

3 P.T.O.
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(b)

The Supreme Court of India, has made it compulsory for all bike riders
to wear helmet. To implement the order of the Supreme Court,
Government of Karnataka has taken steps for all bike riders to wear
helmet. Mr. Prithvi the owner of the helmet manufacturing company
desires to introduce a most safety and attractive helmet to the market.
Now you are required to suggest him suitable measures to be taken by
him as regards new product development.

0, aRinoabs eBIBTob, ¢, BEY mEINY () IO Bejs
damwaﬁg{ 6{3%01)11/9%&@66 &a&qﬁodoq TOOFE3T 30TT) wai) P odnwobd
esz:;@ Fitemnl s artal D). z{,aﬁ BT se%)&‘ FoRJ0d 5 %r{mi%gd . soa D e
BGE®  URTTR WO 8303 U Fene eTRFT TR SwoosEif
SIBBWoTED mﬁ;ﬁ#o&hmad- deden e3dR Bz ema;qlc:s ezp;%f% 003
3ﬂd)3.;@%ﬁ(‘?s‘éd oduaeri!s gmma@* 330,

The Modern Auto Ltd. Co. is a leading manufacturer in car
manufacturing. Now the company has developed a new car which gives
maximum mileage. On behalf of the company, you are requested to
prepare a meaningful and effective advertisement copy for the new car.

D IR’ stler e FoBodn 0L IaiRdFabE), VRS BRRE. Bt o
RoZodn B2y Bydess BABT 58008 BRI DIBATIT. V) B FoBod TODN
BTN ABABAIRITIT 0F SPrZPNr e TDHISOTIOINE 2,060
2&c093) B,30DT), 30ImBLD.
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II Semester B.Com.2 Degree Examination, May 2016
- (RCU - Repeaters)
FINANCIAL ACCOUNTING - II
Time : 3 Hours] _ [Max. Marks : 80

SECTION - A/ &e5ori —

1. Answer any ten of the following : (10 x 2 = 20)
e B34, 003020

{a) What do you mean by consignment?
R0UB T8 0BTBERI?

(b)  What is abnormal loss? Give two examples.
BEBL BADLOTTERI? H0RD mﬁda’ﬂdﬁi B0,

(c} What is cash-in-transit and goods-in-transit?
WMREIFALOTLS B Sy BIMeIBALABLS BUBIR domSer>?

(d)  Write two differences between HPS and instalment system,
WA DBeH s::;;s Hare god DOeD aqasnv BROIT VB qs:ngz:mfag BeY,

{¢) What is Hire purchase price?
Wl DB Wes domSeny?

(f)  What is instalment purchase system?
o3> 0D T3 dordeRo?

(8 What is interest suspense account?
(A1 RE SR S ARV Y aocidcm?

(h)  What is independent Branch?
3303, Fasdabondeny?

() Give two examples of non-recurring eipenses.
RyVoTIF S odonss Surid oo uuméda‘a‘m*a(g* k.

1 P.T.O.
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0)

k)

()

What is limited liability partnership?
DoDAVZ 25T Toewnedd ﬁo%oodde&?

State the minimum and maximum number of partners for formation of a
LLP.

0D wSHRY TeuMOT BoZobR) TIIFROTN ROWETB FBD R By
THETTO 302300, 928, |

What is branch? Why are they opened?
5238 20TBeR? VYR 08 ISobeRrLIB?

SECTION - B/agoer - »

Answer any three : {3 x5 =18§)
Wemal S0eTY, eu3020 '

2. Calculate commission from the folowing :

()
(b)

(<)

(d)

Cost of goods sent on consignment Rs. 8,00,000.
Loading — 20% on invoice price.

Commission is 5% on sales plus 20% on excess price realised over the
invoice price of goods sold.

Consignee sold 3/4 of the goods for Rs. 9,00,000.

3YNT IR L30T wbd), dmﬁéo&oﬁg{ F0rED ROV ;

(@)
(b}
()
(d)

3UB Gend FSHI0E Soed IVAT 30T oo 3¢ dw. 8,00,000.
BUE 3¢ - Sovets W& Soedd 20%.

TeRY-INTHIE S0edd 5% Hone ¥5dos B30 3638 Soed 20%.
3080 FBTIF 3/4 acsonds), 8e. 9,00,0008, S0

3. From the following particulars prepare Branch Debtors Account :

Rs.
Debtorsason 1.1.2013 20,000
Goods sent to Branch 50,000
Total Sales 1,10,000
Cash Sales 10,000
Discount allowed 2,000
Bad debts 1,000

P.D.D. 500
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B 3¢ AR Ied3oon seatods FOMCO 30l 3031020 :

on.
FOMOTH 1.1.20 133, 20,000
Baa31t 3030 CemedREy 50,000
W) I00E3 1,10,000
SRR Ievets 10,000
AoeR De3p) 2,000
0B O 1,000
3080d HoT end : 500

4. ~ Pass the journal entries of the lst year in the books of purchaser with
imaginary figures under instalment system.

503> 200D mgobcl DieBoo @ﬁdq DI Bevte (1) IIFT  Swez
ma)drie.iaigl emﬁmaﬁi @o3NYor 230D,

5. 1.4.2011 Mr. Vedant purchased a truck from Patil and Co. Haliyal on Hire
Purchase basis. The cash price of truck being Rs. 4,00,000 payable
Rs. 1,00,000 on signing the agreement and the balance in three equal annual
instalments of Rs. 1,00,000 each on 31st March every year in addition to
above interest at 5% per annum is also payable to vendor on the unpaid
balance of cash price.

You are required to prepare Hire Purchase Chart.

1.4.2011 Totdd 3. Sewaodnd motdee do. BYadnY 930 FE00T B DOEH SG3abd
wow> TR DD, 38T Sricd B3¢ B, 4,00,000, Be. 1,00,000 nIs), wIows,
1é& Bodwen AT, Sad wed SeZTTY, dwe. 1,00,000 rgod 3308 Toars Soedy
5030nYd) Bewicsy. Fods BOST, B3 IFF 3130b IeeFrdord deBLlesd. W el
SR, 5% wBALRY BABLIEE. B, w8 BE Soed JoTkIMTIN ERBLIEBD.

Soeds B30é&300007 2301 DOCH aiez, 3019020,

6. State any five differences between limited liability partnership and a company.
oI Jarle AobAI w20 TeoMdE so,-;am SRAT odnI)cde 2t dg&éﬁﬁdd& 3920,

3 P.T.O,
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SECTION - C/%peni- & | '
Answer any two questions : _ o (2 x 15 = 30)
Uezadd SOBE, GuI00 '

7. Sri Shankar Ltd. Athani purchased a vehicle on HPS. The terms of payment
are as follows :

Rs.
1.1.2008 on signing the agreement 1,28,000
31.12.2008 1st instalment 1,79,200
31.12.2009 2nd instalment 1,66,400
31.12.2010 3rd instalment 1,53,600
31.12.2011 4th instalment 1,40,800

Depreciation is charged at 20% p.a. on the WDV method. Interest is to be
calculated at 10% p.a. Ascertain the cash price and prepare (a) Vehicle A/c
(b) Interest A/c (c) Hire Vendors A/c and Depreciation A /c.

8¢ 3030 9. upel 8300 welknt DOH SwEod HoeeS 2,080 BT, DDA :

Rs.
1.1.2008 2.:330{:5’%% Ré0dweN 1,28,000
31.12.2008 360 sodd 1,79,200
31.12.2009 a»8@&Be 50 1,66,400
31.12.2010 Sxedse 30> 1,53,600
31.12.2011 wOe 3030 1,40,800

33Fd0ddy de. 20 Tod BRI 3o Jgdaboed driohenhcs de. 10 dod Wi
SFORRNE BB Ind WSabB) o LBAVD Ry Ze Zovd & v DRTCAD.
(a) =o®T w3 (b) WB 128 () INOWIT 2503 (d) 3TTY ae3.

8.  Shri Ramesh bought a computer on 1.4.2010 on insi@ent»basis. The cash
price was Rs. 17,000 and the instalments were paid as Rs. 5,000 down and
the payment of three equal instalments of Rs. 5,000 each. He charges
depreciation at 15% p.a. on straight line method. : ,

Pass the journal entries in the books of Shri Ramesh.-

8¢ O3 o3d> ddeos 1.4.2010 Tord Todd JG3obod 0T nesg obog IR,
OBV, rieszododd 3ndd el de. 17,000 2d. 03 Foonds), I3 IR B, 5,000
n¥od 3=0omeB Suwedh B03ondd) Joweod SPEEROWI). B0 nesg ool n Soeed A0 F03d
IB3 ©esn Boed Bewwe 15 Fod BIY SedFweN AFFOWNRT. e O3 ¥
EEEals Re¥oly M) TDSRYRY, Wad. A ‘
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9. Following is the Trial Balance for the year ending 31.3.2012 of Ainapur

Brothers :
Dr. Cr.
Particulars Rs. Rs.
Capital :
Mahaveer - 15,000
Bahubali - 10,000
Drawings :
Mahaveer 5,000 -
Bahubali 2,500 -
Purchases and Sales 50,000 1,00,000
Opening Stock 25,000
Wages 5,000
Salaries 5,000
Plant 15,000
Furniture 10,000
Printing and Stationery 2,500
Debtors and Creditors 25,000 30,000
Cash 10,000

1,55,000 1,55,000

The following adjustrhents are to be taken into account :
(@) Plant and Furniture to be depreciated 10% each per annum.
(b) RDD @ 5% on debtors.
{c) -~ Salary outstanding Rs. 5,000.
(d) Interest on capital is to be allowed at 5% p.a.
() Profit & Losses are to be shared equally.
(f) Closing stock is valued at Rs. 30,000.
(g Provide 30% tax én profits.
Prepare :
(i  Statement of Income and Expenditure.

(i} Statement of Assets and Liabilities.

5 ‘ P.T.0.
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VAT 3BRCEO0 Duwod 31.3.2013 o mam%s 3I3FT YT, SNTod wed :

Do BWIR
2330 on. gs.
WOBTY :
SoBadeT - 15,000
WaBOWd - 10,000
203 Sw0 Bea
So8deT 5,000 -
WaBOwd 2,500 -
- 0D F3) Inoeks 50,000 1,00,000
$00PE 30 25,000
Sozsed 5,000
owe 5,000
RS0 15,000
SeBReIT0N 10,000
Swde Sod) Sedw 0N, 2,500
20edneh 33 FANL 25,000 30,000
sSncd 10,000
1,55,000 1,55,000
BROTIEIENYD

() =IT I sedecETonNT Soed de. 10 30a0h 3359 3o,
(b)  sbeine Soees 3R mOT ID Be. 5.
c) dpBYeET Zowd Ba. 5,000.
{d)  woBsY wB Be. 5 BRSO,
(€)  ©az3/EROLR), FoTN Bowd,
{f) ©03x BV T K. 30,000.
(g) ©o3rd Boees Be. 30 oX), 30rimen D120

(1} wswmeob I 55&2}‘3 273 &arie
i) o333 woeesed SEIobTY 3037002,

6
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Belgaum Head office has a branch at Vijaypur. The goods are invoiced to
branch at cost plus 50%. From the following particulars prepare the
necessary accounts in the books of Head office under “Stock and Debtors”

System :
Rs. -
Opening Stock on IP 24,000
Opening Debtors 12,000
Goods sent to Branch at IP 1,20,000
. Cash Sales 42 800
Credit Sales 68,000
Cash received from Debtors 58,400
Discount allowed to Debtors 1,600
Goods returned from debtors 4,000
Goods returned by branch to HO 6,000
Cash sent te branch for :
Salary 8,000
Rent 4,000
Other expenses 1,200
Deficit in goods at Branch at IP 1,200
Closing Stock at IP 30,000

B Feor, udednt DwodbR)BBd wowh Falodts. Bl AosONYE) Soee WS B
ge. 50%3, TZIRRLS. ‘Tamgrd S0R) e Iadod SHEBVaDLT), VISR o388

IR, B FYNE Sé3cor 3adROR0 :

ox.

©0030 Taman (DD E X RALY 24,000
BToPT TOMRTITD 12,000
F2211 FLL&RIT TR (DD e 238)  1,20,000
{RR> IP0sk3 42,800
oub) IR0k 68,000
TOMN8DT wol BN & 58,400
DOMUU Jeck 1,600
OMRT0N J0I3 word AT 4,000
Boaloor Feor, Frsedit Sud 6,000
Zo93n FeLLAE B

302.)%6 8,000

(Artelatat 4,000

%30 :swanm 1,200
Zajodbd 303 Eedd (DEd e, ues) 1,200
danob mema (80 o3 W) 30,000

P.TOO-
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11.

SECTION - D/ayen- @

Case study (Compulsory) : (1 x15 =15)
JFON gl .obs (YrEaad) : o

{

Avni Ltd. Bengaluru consigned IOOfcomputers to Tanvi mart Kagawad at an
invoice price of Rs. 12,000 each, which was 33 3‘-% of cost. The consignor paid

Rs. 50,000 as freight. f

Two computers were damaged in transit for which insurance company paid
Rs. 12,500 directly to the consignor.

Consignee took delivery of the rest of the computers and paid carriage
Rs. 29,400, Sales expenses Rs. 18,000 and Godown rent Rs. 12,000.

Tanvi mart sold 85 computers at Rs. 13,000 each and sent a draft in
settlement of their account, afte:f deducting their commission 5% on sales at
Invoice price and 10% on sales’ proceeds over and above the invoice price of
computers sold.

Prepare necessary ledger accounts in the books Avni Ltd.

oD &, worideth AWAL 100 RmFabe3 vy e Weab 331% da, Bus wWert
B3aleosd, de. 12,000 230 e, BSA IY ek seried BSOH TSR,
OIERTth M w8 Fane BN Be. 50,000 WU,

meeisohd H0r) nesabodrdy aavaﬁci;b oJnomn de. 12,500 obaigt AOJPOHE
'zzr%drdq‘ deTmeoN dsedmeOdnt Somacdh IR,

I3l AP ﬁsﬁoi)o:gﬁ@&l AR, 83T EsS wekM dw. 29,400
SPTIT SUneb de. 18,000 303) tecmesv webdrt de. 12,000 5=8 S»BT.

3R ook A[cb 85 nitsgadodried F3ale00d, Ce. 13,000 Bod Inveks IRBED e

S0 IoBore Ve0 Tt W Doedd e, 50 o Bt wod W Be. 100 TeRFobr) 338

o SBT a)zabrﬂvag R00BIBRB VPR SPVONS 'aa;qfs—saéﬁ a.n. 6%&%0306.

o3 &. wondedy axsd CLA IR ] o380 PINY), 3030020




